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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
B1 65 24.7 8.7 45 54.8 41.4
B2 108 22.4 9.1 45 49.9 68.8
B3 114 23.9 8 45 53 72.6
B4 22 20.4 9.9 45 45.4 14
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Section B: Introduction to the New Testament

Answer two questions.

2. (a)	 Explain the main themes of Jesus’ parables. [30]

(b)	 ‘Jesus did not deliver the parables as we know them.’
Assess this statement.	 [15]
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Sticky Note
The essay demonstrates understanding of the main themes of the parables, but the examples given are sometimes irrelevant (e.g. the Good Samaritan is not a parable of judgement) and often inaccurate (e.g. the Prodigal Son did not borrow 'land' from his father; in the parable of the Good Samaritan, the wounded man's life was not saved by a Jew)



gwynnapgwilym
Sticky Note
Marked set by gwynnapgwilym

Sticky Note
There is some grasp of the main issues, but the argument is sometimes confused (e.g. 'the parables could be different to the way in which religious believers today believe'). If the parables are the invention of the early church, what else did it invent? What were the original words of Jesus?  Technical terms (e.g. kerygma) are lacking. 

















Sticky Note
An accurate and relevant treatment of the topic, showing thorough knowledge and understanding and making appropriate use of examples. The essay is focused on the question and is clearly organised. 







Sticky Note
There is appropriate comment and analysis. Different points of view are considered and there is some reference to scholarly opinion. The response reaches a coherent conclusion.
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Section B: Introduction to the New Testament

Answer two questions.

3. (a)	 Examine the miracle of raising the Widow’s Son at Nain. [30]

(b)	 ‘The accounts of his miracles deter people from believing in Jesus.’
Assess this statement.	 [15]
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Sticky Note
There is a glimmer of understanding, but the account is incomplete and sometimes inaccurate (e.g. Jesus did not touch the body). The reference in the final paragraph to the atonement  is irrelevant.



Sticky Note
The argument is somewhat disjointed and is only partially supported by convincing evidence or reasoning. The point about the miracles having been made up by the early church could have been developed. There is no mention of the resurrection miracle being the cornerstone of the Christian faith.   
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Introduction to Biblical Studies 


Section B: Introduction to the New Testament 


Q.2 (a) Explain the main themes of Jesus’ parables. [AO1 30] 


Candidates are likely to include some or all of the following, but other relevant 
points will be credited.  The Kingdom of God or the Kingdom of Heaven.  The 
Kingdom has a present and future setting; it is a dynamic but inconspicuous 
activity; while its growth is guaranteed, its success has certain limitations; its 
value is incomparable, though not obvious to all; it demands repentance and 
obedience; it promises forgiveness and joy.  God’s grace:  God’s favour to 
those who deserve nothing but condemnation; the divine initiative demands a 
human response, which varies.  The cost of discipleship.  Judgement. 
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(b) ‘Jesus did not deliver the parables as we know them.’ 


Assess this statement. [AO2 15] 


Candidates are likely to include some or all of the following, but other relevant 
points will be credited. 


For: 
Some scholars have suggested that the gospel writers produced stories to 
suit the practical needs of the church.  Short, cryptic sayings of Jesus were 
embellished into lengthy stories, e.g. the Parable of the Sower.  The parables, 
therefore, reflect the kerygma. 


Against: 
The early church could not have invented the parables as there were 
eyewitnesses who would know that they were fabrications; if it invented the 
parables, what else did it invent?  If the parables are not the words of Jesus, 
what authority do they have? 
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Q.3 (a) Examine the miracle of raising the Widow’s Son at Nain. [AO1 30] 


Candidates are likely to include some or all of the following, but other relevant 
points will be credited.  A miracle recorded only in Luke’s gospel.  Key 
features include: there is a large number of witnesses; Jesus ‘has 
compassion’ on the widow, who has been left with no-one to support her; the 
miracle is performed through touch and a word of command; the dead man is 
resuscitated; the witnesses glorify God and, indirectly at least, realise who 
Jesus is – ‘God has visited his people’.  There is no mention here of the need 
for faith, but the miracle shows Jesus’ absolute power over death. 


(b) ‘The accounts of his miracles deter people from believing in Jesus.’ 


Assess this statement. [AO2 15] 


Candidates are likely to include some or all of the following, but other relevant 
points will be credited. 


For: 
They are the least believable aspect of Jesus’ ministry and may deter some 
people from becoming Christians.  They may have been made up by the early 
church to prove that Jesus is God.  The call for demythologisation.  Jesus’ life 
and teaching are far more important. 


Against: 
To believers, they are very important because they prove Jesus’ divinity and 
demonstrate God’s pity.  The greatest miracle of all was the resurrection and, 
if that is not true, Christianity is based on a falsehood.  If Jesus was not God, 
what authority does his teaching have? 
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